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R B E

1 “FJ5 2 B (km2)=100 2 Hi(ha)=247.1 JEq (acre)=0.386 ~FJ5 7 H (mile2)

1 “FJ5 K(m2)=10.764 ~F J7 9L R (ft2)

1 “F )5 FE~F(in2)=6.452 ~F J5 JE K (cm2)

1 A Wi(ha)=10000 V- 5 K(m2)=2.471 JLH7(acre)

1 FiH (acre)=0.4047 A Lfi(ha)=4.047x10-3 V- J5 /> B (km2)=4047 ~F-J5 K(m2)
1 L (acre)=0.4047 A bji(ha)=4.047x10-3 *FJ5 /A H.(km2)=4047 *F /5 K (m2)
1 7 35 R (ft2)=0.093 “F-J5 2K m2

1 “F 77K (m2)=10.764 “F-J7 ¥ R (ft2) Q?)
1 F 77 15(yd2)=0.8361 F 75 K (m2) Q)
1 775 3% B (mile2)=2.590 V- J5 /A H.(km2) Q (Q
S Q 50
R O q‘)/
1 375 H(gi)=0.118 F(1) 1 3£ 5l (pt)=0.473 1) @ ('O
1 £ i(qt)=0.946 F(1) 1 %bné(gal) % D xoo

1 (bb1)=0.159 3775 K(m3)=42 al) @32@1234 377 K (m3)

1 3775 95~ (in3)=16.3871 3. J7 J&#> @ @ 1)=4.546 (1)

10 1¢.37.77 9% R (beh)= 2831 7. 754@113) @E/&_L?fﬂ%ﬁ(wf) =283.17 A SLTT K
(m3)

INEW TR AN & ﬁ@.i/?\&(m%l?i?iﬂ%ﬁ(mcf) =28.317 37K
(m3)

1 3753 %f 71@6113)—28 317 FH(liter)

13 4757K(m3 35.315 377 9 R (£t3)=6.29 Hi(bbl)

K P m& Q
1T 7K(km) ‘1 i B (mile) 1 2K(m)=3.281 7= X (f1)=1.094 i (yd)
1 JE K (cm)=0.394 FET(in) 1 T2~} (in)=2.54 JE K (cm)
i mlle) 1.852 F2K(km) 1 %3 (fim)=1.829(m)
1 i(yd)=3 R (ft) 1 #F(rad)=16.5 JE(ft)
1 5% H (mile)=1.609 T>K(km) 1 % (ft)=12 F&~f(in)
1 9 5 (mile)=5280 J¢ R (ft) 1 # H(n mile)=1.1516 7% H (mile)
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1 KHifi(long ton)=1.016 Mfi(t) 1 T 3. (kg)=2.205 & (Ib)

1 155(16)=0.454 T % (kg)[# 1] 1 #% 7l (02)=28.350 5L g

1 %5 ili(sh.ton)=0.907 Mili(t)=2000 f%(Ib)

1 Wi(t)=1000 T 5% (kg)=2205 #%(1b)=1.102 %7 Mi(sh.ton)=0.984 K:Mfi(long ton)

®E A
1 #5/9 R 3(1b/4t3)=16.02 T 55/K 3(kg/m3)
API FF=141.5/15.5CH L E—131.5

1 B5/9 06 (1b/gal)=99.776 T 72/K 3(kg/m3) o
1 3555 1 (B) = 140/15.5C I} ) b 7 — 130 o)‘bcb
1 BE/355~F 3(1b/in3)=27679.9 T3/ 3(kg/m3) (Q (éo

1 /28 I (1b/gal)=119.826 T 5/2K 3(kg/m3) QQ (,0 <0<b

1 T5/CF3 i) (Ib/bb1)=2.853 T 70/ 3(kg/m3) "\,’

T 52K 3(kg/m3)=0.001 S5/HEK 3(g/em3)=0.0624 E@%%&B)
<’)

B E R E Q

1 #7(St)=10-4 >K 2/F(m2/s)=1 }@@ﬂ@ \()/
1 LR 2/FD(£t2/5)=9.29030% 2/s

1 JE 7 (cSt)=10-6 K 2/F %@ﬁz/ m2/s)

z;tja*arwz@QQ

IR 1 ﬂéé <§} Fh (R4 1 JE I (cP)=10-3 - Fb(Pa-s)
1 155 380/ §r> & 803 - #>(Pa-s)
1 %ﬁﬁﬂ/@( )=9.80665 H-F>(Pa-s)

PARE Q

| ﬁFf@i(N)@.zzs 1 71(1b)=0.102 T 7 /1 (kef)
1 T‘@kgf)#ﬁl 4-(N)
1 BY(1bf)=4.45 4-Hi(N) 1 i [E (dyn)=10-5 4-Hi(N)

wE & A
K=5/9(°F+459.67) K="C+273.15
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n°C=5/9-n+32 °F n°F=[n-32x5/9]°C
1°F=5/9°C (i J& 22)

E 7B H

J£77 1 E(bar)=105 TH(Pa) 1 X [K/JE K 2(dyn/cm2)=0.1 1H(Pa)

1 E(Torr)=133.322 MA(Pa) 1 Z KK+ (mmHg)=133.322 ffi(Pa)

1 2K KAE(mmH20)=9.80665 MH(Pa) 1 TFE K )E=98.0665 Tl (kPa)

1 T M1(kPa)=0.145 #5% J1/9~F 2(psi)=0.0102 T 75 J1/JE K 2(kgf/cm?2)

=0.0098 K5 [ (atm)

1 15 77/3~F 2(psi)=6.895 T-i(kPa)=0.0703 T 5% /1/JE K 2(kg/cm2)=0.0689 [ (bar)
=0.068 K (atm)

1 WEE KA s (atm)=101.325 TF(kPa)=14.696 5%/95~} 2(psi)=1.0333 Fj(barb)(bcb

R B Q ®<,§b

1 T2k 2-1f (kcal/m2-h)=1.16279 FL/K 2(w/m

| TR/Ck 2:15°C) (Tkeal/m2h-'C) =1.1 %@@; w/m2 K)
1 BEREALT/(FER 2-0F-°F) (Btu/ft2-h- F@ 67 /(7§ /T\I) (w/m2-K))
1 2K 2-B-°C/TF-R(m2-h-C/kcal)= 0@ § /J\ m2 K/W)
mEERE

1 FRCK-H-C) (keal/ 276%/(7& FFR) (W/mK)

1 9&4‘1@14/(9%}‘1' EIT h 7303 FL/CR-IF/RL) (W/m-K)
I <> °o(°

11’”1%*% - =1 JEHHNL/(B5-°F) (Btw/lb-°F)

=4186.8 /@% (J/(kg'K))

| %(cal):@sés HEH (D) 1 kFE=4186.75 FH(J)

1T (kgf-m)=9.80665 £ H-(])

1 ﬁ@%%ﬁ@m): 1055.06 F£H.(J)

1 FFL/NEH (kW -h)=3.6x106 £ H-(J)

1 5 REE 1 (ft 1bf)=1.35582 £ FH(J)

1 K 5 73/ (hp-h)=2.64779x106 £ H(J)
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1 JL I J3/NiH(UKHp-h)=2.68452x106 £ H-
1 2 H.=0.10204 T30k

=2.778x10—7 T L/}

=3.777x10—7 A F1 /N
=3.723x10—7 FEifil] 5 Sy /N
=2.389x10—4 Tk

=0.48x10—4 JEH T

R %R

1 FEHRAL/ (Btu/h)=0.293071 FL(W)
1 58 )1 K/ (kgf m/s)=9.80665 FL(w) O
1 F/Fb (cal/s) =4.1868 FL(W) Q)Cb
1 Kl 5 /1 (hp)=735.499 FL(W) =

O BB <§>§Q
1 5% HL/BF (mile/h)=0.44704 K/Fb(m/s) Q \Q')& (O'Q
1 36 JRBD (ft/sy=0.3048 K/Fb(m/s) cb

T EL Y Q"

1 AP =1000 37 1 77 i3 @@@@?@

e EY &
e <} Q%cb

1°F/100 9t R=1.8"C/10

| C//\E 2.9°F /3 @mn@ os&l@oo 35 R (°F/fY)
R O G
wwn<@)@éﬁ%)
1 734&477%& d) = 2 {¢.57. 75K/ H(m3/d)=10.336 31177 K/ (m3/a)
10 {23 7 9% 2832 12,5775 K/ H (m3/d) =103.36 12,3775 K /4F (m3/a)
INEWA / ﬁ%lcfd)ﬂ.f&ﬂ J3 53775 K/ H (m3/d)=1033.55 J3 575 K/ (m3/a)
1 T3 )79 %:fd)zz&sz 375 K/ H (m3/d)=1.0336 J3 37K/ (m3/a)
| ﬁ/a(bso W /4F (t/a) (SR, AERSFEH)
1 (. FH(bbY) i, AxEk-F1y
W e s
1 3777 92 R /A (cuft/bbl)=0.2067 3777 K/Mfi(m3/t)
MOE ¥
1 #f 5 =5.8x 106 T AT (Btu)
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1 MifE=2.406x 107 B H AT (Btu)

1 5777 K385 =3.909x 104 F&H HA7 (Btu)

1 T EC/NF 7K B =1.0235x 104 HL#4(Btu)

1 327K TR =3.577x104 FEIEAL(Btu) (LA 1990 F3E [F P #4H)

(REIRIR: 26 B E AR MER)

MY E

1 A8 S = 5800 775 9 ROR IR (LS VB THED)
1 377 KRR =1.3300 T 5o bt

1 T 50 5 =1.4286 T 5o brifi it
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